
1. John and Abby picked 10 flowers altogether. John picked 2 flowers. How many flowers did Abby 

pick? 10 - 2 = _____ 

A. 12 

B. 10 

C. 8 

D. 6 

  



Try Again 

  



Correct  

Go the Next Question 

  



2. I bought 9 crayons yesterday. I gave 5 crayons to my brother. How many crayons do I have now? 

9 - 5 = _____? 

A. 4 

B. 3 

C. 6 

D. 2 

  



Try Again 

  



Correct  

Go to the Next Question 

  



3. There were 8 frogs. Three frogs left. How many frogs are remaining?  

8 - 3 = _______ 

A. 5 

B. 2 

C. 11 

D. 6 

  



Try Again 

  



Correct 

Go to the Next Question 

  



4. Peter and his sister picked 6 pebbles altogether. Peter picked 2 of them. How many pebbles did 

his sister pick? 

6 - 2 = _______ 

A. 3 

B. 8 

C. 4 

D. 3 

  



Try Again 

  



Correct  

Go to the Next Question 

  



5. Subtract the following numbers 

 5 - 5 = ______ 

A. 5 

B. 2 

C. 1 

D. 0 

  



Try Again 

  



Correct  


